TR FEDKR
(H17.1.1~H17.3.31 DKiR) _

G = L af | FE | BCE | Sk | BUE | Z1£ | BUE | 2L | BUE | #8185 | &% [HrEHUL

(1958) | (1958)] (2058) [ (20%8) | (5158) | (5158)[ (585%)| (5858) | (665%) [ (665%)| (7258)|(7258)[(90%8)| (905%)| (130%%)
HEEZES 75 25 0 0 0 0 0 0 0 0
20 FEIESE 23 15 0 0 0 0 0 0 0 0
eSS 87 14 0 0 0 0 0 0 1 0
BREE (BRAIILEDH) 18 4 0 0 0 0 0 0 0 0
W EE W TEEZED) 8 2 0 0 0 0 0 0 0 0
ERDEES 1
B&T 211 60 0 0 0 0 0 0 0 0 0 0 0 0 1 1
(H17.4.1~H18.3.31DKR) _

G = Ll as | FE | BCE | F1E | BUE | 21£ | BUE | 21k | BUHE & | a5 |FHmEEUL

(1958) | (1958)] (2058) [ (20%8) | (5158) | (5158)[ (585%)| (5858) | (6658) [ (665%)| (7258)1(7258)[(90%8)| (905%)| (130%%)
HEEES 902 | 175 1 0 0 6 5 0 108 0
20 FEIESE 616 45 10 0 0 6 1 0 4 0
eSS 576 | 153 2 0 0 3 12 0 51 0
BREE (BRAIINEDH) 101 17 0 0 0 2 0 0 2 0
W EE R TEEZED) 28 8 0 0 0 0 0 0 0 0
ERDEES 3
&7 2,223 | 398 13 0 0 6 0 6 0 3 0 2 18 0 165 3
(H18.4.1~H19.3.31 DKixR) _

G S| 85 | S| FLE|BE | Bl | BCE | 21k | BUE | 218 | BUE | 815 | 5 [EREEUR

(1958) | (1958)] (2058) [ (20%8) | (5158) | (5158)[ (585%)| (585%) | (665) [ (665%)| (7258)1(7258)[(90%8)| (905%)| (130%%)
HEEES 362 | 111 6 0 1 24 5 0 18 0
20 FEIESE 409 | 232 3 0 1 14 15 0 3 0
eSS 387 185 5 0 1 4 6 0 24 0
BREE (BRAIILEDH) 35 20 0 0 1 0 2 0 2 0
W EE (R TEZED) 3 1 0 0 0 0 0 0 0 0
ERLE S 1
aET 1,196 | 549 14 0 1 24 1 14 1 4 1 0 28 0 47 1
&5t

G = L as | FE | BCE | F1E | BUE | 21£ | BUE | 21k | BUHE & | % |FHmEHEUL

(1958) | (1958)] (2058) [ (20%8) | (5158) | (5158)[ (585%)| (5858) | (6658) [ (665%)| (7258)|(7258)[(90%8)| (905%)| (130%%)
HEEES 1,339 | 311 7 0 1 30 10 0 126 0
20 ERIRES 1,048 | 292 13 0 1 20 16 0 7 0
eSS 1,050 [ 352 7 0 1 7 18 0 76 0
BREE (BRIILEDH) 154 41 0 0 1 2 2 0 4 0
W EE R TEEZED) 39 11 0 0 0 0 0 0 0 0
ERLE S 5
aET 3,630 | 1,007 27 0 1 30 1 20 1 7 1 2 46 0 213 5
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